
Φύλλο εργασίας 2 

Διορθώστε τα λάθη του παρακάτω προγράμματος. Στη συνέχεια εκτελέστε το 
πρόγραμμα. 
 
ΠΡΟΓΡΑΜΜΑ ΠΛΗΘΟΣ_ΨΗΦΙΩΝ_ΑΚΕΡΑΙΟΥ_ΘΕΤΙΚΟΥ 
ΜΕΤΑΒΛΗΤΕΣ 
  ΑΚΕΡΑΙΕΣ: Χ, ΠΛ 
ΑΡΧΗ 
  Χ <- 354 
  ΚΑΛΕΣΕ ΠΛΗΘΟΣ_ΨΗΦΙΩΝ(Χ, ΠΛ)  
  ΓΡΑΨΕ 'Ο ΑΡΙΘΜΟΣ ', Χ, ' ΕΧΕΙ ', ΠΛ, ' ΨΗΦΙΑ' 
ΤΕΛΟΣ_ΠΡΟΓΡΑΜΜΑΤΟΣ 
! ========================================= 
ΔΙΑΔΙΚΑΣΙΑ ΠΛΗΘΟΣ_ΨΗΦΙΩΝ(Χ, ΠΛΗΘΟΣ)  
ΜΕΤΑΒΛΗΤΕΣ 
  ΑΚΕΡΑΙΕΣ: ΠΛΗΘΟΣ, Χ 
ΑΡΧΗ 
  ΠΛΗΘΟΣ <- 0 
  ΑΡΧΗ_ΕΠΑΝΑΛΗΨΗΣ 
    ΠΛΗΘΟΣ <- ΠΛΗΘΟΣ + 1 
    Χ <- Χ div 10 
  ΜΕΧΡΙΣ_ΟΤΟΥ Χ = 0 
ΤΕΛΟΣ_ΔΙΑΔΙΚΑΣΙΑΣ 


